P1 - Price/Output Determination. Cold Case, Inc., produces beverage containers used by fast food franchises. This is a perfectly competitive market. The following relation exists between the firm's beverage container output per hour and total production costs:

	Total Output
	Total Cost

	0 
	$  35 

	1,000 
	85 

	2,000 
	145 

	3,000 
	215 

	4,000 
	295 

	5,000 
	385 

	6,000 
	485 

	7,000 
	610 

	
	

	A.
	Construct a table showing the marginal cost of paper cup production.


	B.
	What is the minimum price necessary for the company to supply one thousand cups?
(Remember in a competitive market, price = marginal revenue.)

	C.
	How many cups would the company supply at industry prices of $75 and $100 per thousand?


P2 - Price/Output Determination. The accompanying graph summarizes the demand and 
           costs for a firm that operates in a perfectly competitive market.
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a. What level of output should this firm produce in the short run?
b. What price should this firm charge in the short run?
c. What is this firm’s total cost at this level?
d. What is the firm’s profit or loss if it produces at this level?
P3- A firm sells its product in a perfectly competitive market where other firms charge a price
          of $80 per unit.  The firm’s total costs are C(Q) = 40 + 8(q) + 2(Q)^2.

a. How much output should the firm produce in the short run?
b. What price should the firm charge in the short run?
c. What are the firm’s short-run profits?
d. What adjustments should be anticipated in the long run?
P4 - Answer the following multiple choice questions:

            1. Alfred Marshall defined the short run as being:

       a.  that period of time in which all inputs are variable.

       b.  any period of time less than one year.

       c.  any period of time less than six months.

       d.  that period of time in which at least one of the firm’s inputs,

            usually plant size, is fixed.
 2. Marginal product is:

a. The change in total input needed to produce one additional output unit.

b. The change in total output resulting from one additional input unit.

c. The number of output units obtained from all input units employed.

d. Another name for total output.

3.  Diminishing returns in production (diminishing marginal product) is the

      result of :

a. Inefficiency in the production process.

b. Government interfering in the economy.

c. Employing additional inputs (labor) to work on a fixed input (land or capital).
d. Sloth on the part of workers.

               4. Since the input variable (labor) price does not change, marginal cost

      increases because:

      a.   Marginal product is increasing. 

      b.   Total variable cost is diminishing.

      c.   Total fixed cost is increasing.

      d.   Marginal product is diminishing.
5. A firm’s marginal cost curve:

       a.  is always above its average cost curve.

       b.  always has a positive slope.

       c.  is always below its average cost curve.

       d.  always intersects its average cost curve at its minimum point.
6. A perfectly competitive firm’s demand curve is horizontal.  This means

      that the firm’s marginal revenue is:

      a.   Less than the price of the product.
b.   Greater than the price of the product.

c.   Has nothing to do with the price of the product.

d.   equal to the price of the product.

      7. The entrepreneur maximizes the competitive firm’s profits by producing at

            that quantity where:

     a.  Market supply crosses the firm’s marginal cost.

     b. Price equals the minimum of total cost.
     c. Marginal cost equals marginal revenue.

                      d. Marginal cost equals total revenue.

The following figure shows Marginal Cost, Average Cost and Average Revenue for a particular firm operating in a perfectly competitive market.
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      8.    At what level of output (quantity) will the firm operate?

   a.   OG
       b.  OH 

c.   OJ            d.   OK

      9.    Which rectangle correctly indicates the amount of Total Cost of                        

               producing the Maximum-profit quantity? 

   a.   BPHO          b.   BQJO          c.   DVJO         d.   BSKO 

     10.   Which rectangle correctly indicates Total Profit earned at this quantity?

         a.  BQJO            b.   BQVD          c.   DVJO         d.   BPHO

11.  A firm should shut down whenever:

a. Price falls below minimum average variable cost.

b. Price falls below minimum average total cost.

c. Marginal cost exceeds marginal revenue.

d. The firm is taking a loss.

12.  The firm’s supply curve is the same as the firm’s marginal cost curve when:

a. MC is above MR.

b. MC is below ATC.

c. MC is above AVC.

d. MC is below AVC.

13.  Suppose a perfectly competitive firm faces the following short run cost and 

       revenue conditions:  ATC = $8.00, AVC = $6.00, MC = $12.00, MR = $10.00.

       The firm

a. Should increase output.

b. Should increase price.

c. Should decrease output.

d. Should shut down.

14.  Industry equilibrium in competitive markets squeezes out excess profits and

       achieves technical efficiency by pushing prices to the minimum:

a. MC.

b. ATC.

c. AVC.

d. TC.

15.   The revenue situation of a monopolistic firm differs from that of a perfectly

        competitive firm in that:

  a.   its marginal revenue equals average revenue.

          b.   its marginal revenue equals price.

          c.   its marginal revenue is less and average revenue.

          d.   its marginal revenue is greater than average revenue.

Use the following graph to answer questions 16 – 18.
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16.  The profit-maximizing output level for this monopolistic firm is:  

                   a.  OD.

              b.  OB.

              c.  OC.

              d.  OA.

17.    The profit-maximizing price for the monopolist to charge is:                                           

a. $1.00

b. $1.50

c. $3.00

d. $5.00

18.   The price charged in perfectly competitive industry equilibrium would 

         be:

a. $1.00

b. $1.50

c. $3.00

d. $5.00

P5 - You are the manager of the monopoly, and your demand and cost functions are given by

P = 200 – 2(Q) and C(Q) = 2,000 + 3Q^2.

a. What price – quantity combination maximizes your firm’s profits?
b. Calculate the maximum profits.
c. What price – quantity combination maximizes revenue?
d. Calculate the maximum revenues.
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